

FS-Subsets Under The FS-Complement Operator

Dr K V Uma Kameswari, Associate Professor, Dadi Institute of Engineering & Technology

D. Harika, Asst. Professor, Dadi Institute of Engineering and Technology

R. Vasu Babu, Shri Vishnu Engineering College for Women, Vishnupur, Bhimavaram

Abstract: In this paper we search the nature of an image of an Fs-subset under an Fs-function whenever this Fs-function acts on complement of an Fs-subset. Also we prove that the image of the complemented Fs-subset contains complement of the image under some condition.

For any Fs-subsets U, V and P of W ,
with $U = (U_1, U, \bar{U}(\mu_{1U_1}, \mu_{2U}), L_U)$, $V = (V_1, V, \bar{V}(\mu_{1V_1}, \mu_{2V}), L_V)$, $P = (P_1, P, \bar{P}(\mu_{1P_1}, \mu_{2P}), L_P)$ and $W = (W_1, W, \bar{W}(\mu_{1W_1}, \mu_{2W}), L_W)$

i) $U \Delta V = V \Delta U$

ii) $U \Delta \Phi_W = U$

iii) $U \Delta U = \Phi_W$

iv) $U \Delta (V \Delta P) = (U \Delta V) \Delta P$ with condition provided $\mu_{1P_1}^x = \mu_{2U}^x = \mu_{1V_1}^x$, $\mu_{1U_1} = \bar{V}^x = \mu_{2P}^x$

v) $(U - V) - P = U - (V \sqcup P)$ with condition provided $(\bar{V}^x \vee \bar{P}^x) \geq (\mu_{1P_1}^x \wedge (\mu_{2V}^x)^c) \wedge (\mu_{1V_1}^x \wedge (\mu_{2P}^x)^c)$

Here $U \Delta V$ stands for $(U \sqcap V^{c_A}) \sqcup (U^{c_A} \sqcap V)$, where U^{c_A} is the FS-Complement of U in W and $U - V$ stands for $U \sqcap V^{c_A}$

Here Φ_W stands for FS-empty set

We include the necessary principles useful to read in this chapter. For more details of the results or statements in this chapter one can refer [Appendix-B]

Fs-set

1.1 Definition: Let $W \subseteq W_1 \subseteq X$ where X is a non-void universal set. Then a four tuple of the form $\mathcal{W} = (W_1, W, \bar{W}(\mu_{1W_1}, \mu_{2W}), L_W)$ is an F_s-set if and only if,

(1) L_W is a complete Boolean Algebra

(2) $\mu_{1W_1}: W_1 \rightarrow L_W, \mu_{2W}: W \rightarrow L_W$ are mappings such that $\mu_{1W_1}|W \geq \mu_{2W}$ i.e $\mu_{1W_1}x \geq \mu_{2W}x$ for each $x \in W$

(3) $\bar{W}: W \rightarrow L_W$ is defined by

$$\bar{W}x = \mu_{1W_1}x \wedge (\mu_{2W}x)^c \text{ for each } x \in W$$

Fs-subset

1.2 Definition: Suppose $\mathcal{W} = (W_1, W, \bar{W}(\mu_{1W_1}, \mu_{2W}), L_W)$ and $\mathcal{U} = (U_1, U, \bar{U}(\mu_{1U_1}, \mu_{2U}), L_U)$ are two F_s-sets. We say \mathcal{U} is an F_s-subset of \mathcal{W} , in symbol, we write $\mathcal{U} \subseteq \mathcal{W}$, if and only if

$$U_1 \subseteq W_1, W \subseteq U$$

A result related to containment - in fact, a characterization lemma

1.3 Lemma: If \mathcal{U}, \mathcal{V} and \mathcal{P} are F_s-subsets with $\mathcal{U} \subseteq \mathcal{V}$ and $\mathcal{V} \subseteq \mathcal{P}$, then $\mathcal{U} \subseteq \mathcal{P}$

1.4 Remark: For some $L_\Omega, L_\Omega \leq L_W$, the specific object $\Omega_\varphi = (\Omega_1, \Omega, \bar{\Omega}(\mu_{1\Omega_1}, \mu_{2\Omega}), L_\Omega)$ with conditions

(a) $\Omega \not\subseteq \Omega_1$ or Ω is a void set

(b) $\mu_{1\Omega_1} x \not\geq \mu_{2\Omega} x$, for some $x \in \Omega \cap \Omega_1$ or $\mu_{2\Omega}$ is a void function i.e $\mu_{2\Omega}$ is a function with domain void set is called a Type-I void set and is denoted by φ_1 and throughout this thesis, this specific Ω_φ is denoted by φ_1 and we agree that $\varphi_1 \subseteq \mathcal{U}$, for any Fs – subset U

1.5 Definition: If $\mathcal{Y} = (Y_1, Y, \bar{Y}(\mu_{1Y_1}, \mu_{2Y}), L_Y)$ is an Fs-subset of \mathcal{U} , with the following properties

- (a') $\mathcal{U} \subseteq \mathcal{W}$
- (b') $Y_1 = Y = W$
- (c') $L_Y \leq L_W$
- (d') $\bar{Y} = 0$ or $\mu_{1Y_1} = \mu_{2Y}$

then, we say that \mathcal{Y} is a Type-II Void set and is denoted by φ_2

1.6 Definitions of different kinds of equality of Fs-subsets:

Suppose $\mathcal{U}_1 = (U_{11}, U_1, \bar{U}_1(\mu_{1U_{11}}, \mu_{2U_1}), L_{U_1})$ and $\mathcal{U}_2 = (U_{12}, U_2, \bar{U}_2(\mu_{1U_{12}}, \mu_{2U_2}), L_{U_2})$ are two Fs-subsets. We say that \mathcal{U}_1 and \mathcal{U}_2 in (1), (2), (3), (4), (5) and (6) respectively

- (1) Equality of 1st kind if $U_{11} = U_{12}, L_{U_1} = L_{U_2}$
- (2) Equality of 2nd kind if $U_1 = U_2, L_{U_1} = L_{U_2}$
- (3) Equality of 3rd kind if \mathcal{U}_1 and \mathcal{U}_2 are of equality of 1st kind with $\mu_{1U_{11}} = \mu_{1U_{12}}$
- (4) Equality of 4th kind, if \mathcal{U}_1 and \mathcal{U}_2 are of equality of 2nd kind with $\mu_{2U_1} = \mu_{2U_2}$

(5) Equality of total with the notation $\mathcal{U}_1 = \mathcal{U}_2(T)$, if \mathcal{U}_1 and \mathcal{U}_2 are of equality of 2nd kind with $\bar{U}_1 = \bar{U}_2$

(6) Full-equal, denoted $\mathcal{U}_1 = \mathcal{U}_2$, if \mathcal{U}_1 and \mathcal{U}_2 are of equality of 3rd kind and equality of 4th kind

The Operations Fs-union(\sqcup) and Fs-intersection (\sqcap)

1.7 Definition: Let $\mathcal{U} = (U_1, U, \bar{U}(\mu_{1U_1}, \mu_{2U}), L_U)$,

$\mathcal{V} = (V_1, V, \bar{V}(\mu_{1V_1}, \mu_{2V}), L_V) \in \mathcal{W}$. Then,

$\mathcal{U} \sqcup \mathcal{V} = \mathcal{P} = (P_1, P, \bar{P}(\mu_{1P_1}, \mu_{2P}), L_P)$, where

(1) $P_1 = U_1 \sqcup V_1$ (crispset union)

$P = U \sqcap V$ (crisp set intersection)

(2) $L_P = L_U \vee L_V =$ The complete subalgebra generated by $L_U \sqcup L_V$

(3) $\mu_{1P_1}: P_1 \rightarrow L_P$ is defined by

$$\mu_{1P_1}x = (\mu_{1U_1} \vee \mu_{1V_1})x = \begin{cases} \mu_{1U_1}x, & \text{if } x \in U_1, x \notin V_1 \\ \mu_{1V_1}x, & \text{if } x \in V_1, x \notin U_1 \\ \mu_{1U_1}x \vee \mu_{1V_1}x, & \text{if } x \in U_1, x \in V_1, \end{cases}$$

$\mu_{2P}: P \rightarrow L_P$ is defined by

$\mu_{2P}x = \mu_{2U}x \wedge \mu_{2V}x$ and

$\bar{P}: P \rightarrow L_P$ is defined by

$$\bar{P}x = \mu_{1P_1}x \wedge (\mu_{2P}x)^c$$

1.8 Definition: Let $\mathcal{U} = (U_1, U, \bar{U}(\mu_{1U_1}, \mu_{2U}), L_U)$ and $\mathcal{V} = (V_1, V, \bar{V}(\mu_{1V_1}, \mu_{2V}), L_V) \subseteq \mathcal{W}$ with the properties:

$$(i) \quad U_1 \cap V_1 \supseteq U \cup V$$

$$(ii) \quad \mu_{1U_1}x \wedge \mu_{1V_1}x \geq (\mu_{2U} \vee \mu_{2V})x \quad \text{for each } x \in W \text{ (see the definition 1.7)}$$

Then,

$\mathcal{U} \cap \mathcal{V} = \mathcal{Q} = (Q_1, Q, \bar{Q}(\mu_{1Q_1}, \mu_{2Q}), L_Q)$, where

$$(1) \quad Q_1 = U_1 \cap V_1, \quad Q = U \cup V$$

$$(2) \quad L_Q = L_U \wedge L_V = L_U \cap L_V$$

(3) $\mu_{1Q_1}: Q_1 \rightarrow L_Q$ is defined by

$$\mu_{1Q_1}x = \mu_{1U_1}x \wedge \mu_{1V_1}x$$

$\mu_{2Q}: Q \rightarrow L_Q$ is defined by

$$\mu_{2Q}x = (\mu_{2U} \vee \mu_{2V})x$$

$\bar{Q}: Q \rightarrow L_Q$ is defined by

$$\bar{Q}x = \mu_{1Q_1}x \wedge (\mu_{2Q}x)^c.$$

Associative Laws

1.9 Proposition:

For \mathcal{U} , \mathcal{V} and $\mathcal{P} \subseteq \mathcal{W} = (W_1, W, \bar{W}(\mu_{1W_1}, \mu_{2W}), L_W)$, the following associative laws are true.

$$(I) \quad \mathcal{U} \sqcup (\mathcal{V} \sqcap \mathcal{P}) = (\mathcal{U} \sqcup \mathcal{V}) \sqcup \mathcal{P} \text{ (full-equal)}$$

$$(II) \quad \mathcal{U} \sqcap (\mathcal{V} \sqcup \mathcal{P}) = (\mathcal{U} \sqcap \mathcal{V}) \sqcup \mathcal{P} \text{ (full-equal)}$$

1.10 Proposition: Suppose $\mathcal{U} = (U_1, U, \bar{U}(\mu_{1U_1}, \mu_{2U}), L_U)$, $\mathcal{V} = (V_1, V, \bar{V}(\mu_{1V_1}, \mu_{2V}), L_V)$ and $\mathcal{P} = (P_1, P, \bar{P}(\mu_{1P_1}, \mu_{2P}), L_P)$. Then $\mathcal{U} \sqcup (\mathcal{V} \sqcap \mathcal{P})$ and $(\mathcal{U} \sqcup \mathcal{V}) \sqcup \mathcal{P}$ are full-equal, provided $\mathcal{V} \sqcap \mathcal{P}$ exists or $\mathcal{V} \sqcap \mathcal{P} \neq \varphi_1$

1.11 Remark: Whenever $\mathcal{V} \sqcap \mathcal{P} = \varphi_1$ this Law fails.

1.12 Proposition: Let $\mathcal{U} = (U_1, U, \bar{U}(\mu_{1U_1}, \mu_{2U}), L_U)$, $\mathcal{V} = (V_1, V, \bar{V}(\mu_{1V_1}, \mu_{2V}), L_V)$ and $\mathcal{P} = (P_1, P, \bar{P}(\mu_{1P_1}, \mu_{2P}), L_P)$. Then $\mathcal{U} \sqcap (\mathcal{V} \sqcup \mathcal{P})$ and $(\mathcal{U} \sqcap \mathcal{V}) \sqcup (\mathcal{U} \sqcap \mathcal{P})$ full-equal provided

$$(\mathcal{U} \sqcap \mathcal{V}) \sqcup (\mathcal{U} \sqcap \mathcal{P}) \neq \varphi_1$$

Whenever $(\mathcal{U} \sqcap \mathcal{V}) \sqcup (\mathcal{U} \sqcap \mathcal{P}) = \varphi_1$ this law fails.

Fs-complement of an Fs-subset

1.13 Definition

Consider a particular Fs-set $\mathcal{W} = (W_1, W, \bar{W}(\mu_{1W_1}, \mu_{2W}), L_W)$, $W \neq \Phi$, where

- (i) $W \subseteq W_1$
- (ii) $L_W = [0, M_A]$ the complete Boolean algebra, M_A is the largest element of L_W
- (iii) $\mu_{1W_1} = M_A, \mu_{2W} = 0$

$$\bar{W}x = \mu_{1W_1}x \wedge (\mu_{2W}x)^c = M_A \text{ for each } x \in W$$

Given $\mathcal{U} = (U_1, U, \bar{U}(\mu_{1U_1}, \mu_{2U}), L_U)$. We define Fs-complement of \mathcal{U} in \mathcal{W} , denoted by \mathcal{U}^{c_A} for $U=W$ and $L_U = L_W$ as

$\mathcal{U}^{c_A} = \mathcal{P} = (P_1, P, \bar{P}(\mu_{1P_1}, \mu_{2P}), L_P)$, where

(a') $P_1 = C_A U_1 = U_1^c \sqcup W, P = U = W$ where $U_1^c = W_1 - U_1$

(b') $L_P = L_W$

(c') $\mu_{1P_1}: P_1 \rightarrow L_W$ is defined by

$$\mu_{1P_1}x = M_A$$

$\mu_{2P}: W \rightarrow L_W$ is defined by

$$\mu_{2P}x = \bar{U}x = \mu_{1U_1}x \wedge (\mu_{2U}x)^c$$

$\bar{P}: W \rightarrow L_W$ is defined by

$$\bar{P}x = \mu_{1P_1}x \wedge (\mu_{2P}x)^c = M_A \wedge (Ux)^c = (\bar{U}x)^c.$$

Fs-DeMorgan Laws of a pair of Fs-subsets

1.14 Proposition

For any pair of Fs-sets $\mathcal{U} = (U_1, U, \bar{U}(\mu_{1U_1}, \mu_{2U}), L_U)$ and $\mathcal{V} = (V_1, V, \bar{V}(\mu_{1V_1}, \mu_{2V}), L_V)$ with $U = V = W$ and $L_U = L_V = L_W$, we can have

(1) $(\mathcal{U} \sqcup \mathcal{V})^{c_A} = \mathcal{U}^{c_A} \cap \mathcal{V}^{c_A}$ if

$$(\bar{U}x)^c \wedge (\bar{V}x)^c \leq [(\mu_{1U_1}x)^c \vee \mu_{2V}x] \wedge [(\mu_{1V_1}x)^c \vee \mu_{2U}x] \text{ for each } x \in W$$

(2) $(\mathcal{U} \cap \mathcal{V})^{c_A} = \mathcal{U}^{c_A} \sqcup \mathcal{V}^{c_A}$, whenever $\mathcal{U} \cap \mathcal{V} \neq \Phi_W = \text{Fs-empty set of first kind}$

1.15 Proposition: A family \mathfrak{G} of all Fs-subsets $\mathcal{U} \subseteq \mathcal{W}$ and $\mathcal{W} = (W_1, W, \bar{W}(\mu_{1W_1}, \mu_{2W}), L_W)$

with $\mathcal{U} = (U_1, U, U(\mu_{1U_1}, \mu_{2U}), L_U)$ with $U=W$ and $L_U = L_W$ is conditionally a commutative group with the operation Δ as defined below $\mathcal{U} \Delta \mathcal{V} = (\mathcal{U} \cap \mathcal{V}^{c_A}) \cup (\mathcal{U}^{c_A} \cap \mathcal{V})$ where \mathcal{U} & \mathcal{V} are Fs- subsets of \mathcal{W} , this proposition follows from 1.16 to 1.17.

1.16 Proposition: We can easily observe that for any Fs-subsets \mathcal{U} & \mathcal{V} , the following results are true

- 1) $\mathcal{U} \Delta \mathcal{V} = \mathcal{V} \Delta \mathcal{U}$
- 2) $\mathcal{U} \Delta \Phi_{\mathcal{W}} = \mathcal{U}$
- 3) $\mathcal{U} \Delta \mathcal{U} = \Phi_{\mathcal{W}}$

1.17 Proposition :For any Fs-subsets \mathcal{U}, \mathcal{V} and \mathcal{P} of \mathcal{W} the following $\mathcal{U} \Delta (\mathcal{V} \Delta \mathcal{P}) = (\mathcal{U} \Delta \mathcal{V}) \Delta \mathcal{P}$ is true provided

$$a) \mu_{1P_1}^X = \mu_{2U}^X = \mu_{1V_1}^X,$$

$$b) \mu_{1U_1} = \bar{V}_X = \mu_{2P}^X$$

Proof:

We have $\mathcal{V} \Delta \mathcal{P} = (\mathcal{V} \Delta \mathcal{P}^{c_A}) \cup (\mathcal{V}^{c_A} \cap \mathcal{P}) = \mathcal{H} \cup \mathcal{J} = \mathcal{K}$ (say)

Therefore L.H.S = $\mathcal{U} \Delta (\mathcal{V} \Delta \mathcal{P}) = \mathcal{U} \Delta \mathcal{K} = (\mathcal{U} \cap \mathcal{K}^{c_A}) \cup (\mathcal{U}^{c_A} \cap \mathcal{K})$, Where

$$\mathcal{U} = (U_1, U, \bar{U}(\mu_{1U_1}, \mu_{2U}), L_U)$$

$$\mathcal{V} = (V_1, V, \bar{V}(\mu_{1V_1}, \mu_{2V}), L_V)$$

$$\mathcal{P} = (P_1, P, \bar{P}(\mu_{1P_1}, \mu_{2P}), L_P)$$

$$\mathcal{U}^{c_A} = \mathcal{E} = (E_1, E, \bar{E}(\mu_{1E_1}, \mu_{2E}), L_E), \text{ where}$$

$$(i) E_1 = C_A U_1 - U_1^c \sqcup W \quad E=U=W \text{ where } U^c_1 = W_1 - U_1$$

$$(ii) L_E = L_W$$

$$(iii) \mu_{1E_1}: E_1 \rightarrow L_W \text{ is given by } \mu_{1E_1} x = M_A$$

$$\mu_{2E}: E \rightarrow L_W \text{ is given by } \mu_{2E} = \bar{U}x = \mu_{1U_1}x \wedge (\mu_{2U}x)^c$$

$$\bar{E}: E \rightarrow L_W \text{ is given by } \bar{E}x = \mu_{1E_1}x \wedge (\mu_{2E}x)^c = M_A \wedge (\bar{U}x)^c = (\bar{U}x)^c$$

$$\mathcal{V}^{c_A} = \mathcal{F} = (F_1, F, \bar{F}(\mu_{1F_1}, \mu_{2F}), L_F), \text{ where}$$

$$(i) F_1 = C_A V_1 - V_1^c \sqcup W, F=V=W$$

$$(ii) L_F = L_V = L_W$$

$$(iii) \mu_{1F_1}: F_1 \rightarrow L_A \text{ is given by } \mu_{1F_1} x = M_A$$

$$\mu_{2F}: F \rightarrow L_W \text{ is given by } \mu_{2F} x = \bar{V}x$$

$$\bar{F}: F \rightarrow L_W \text{ is given by } \bar{F}x = \mu_{1F_1}x \wedge (\mu_{2F}x)^c = M_A \wedge (\bar{V}x)^c = (\bar{V}x)^c$$

$$\mathcal{P}^{c_A} = \mathcal{G} = (G_1, G, \bar{G}(\mu_{1G_1}, \mu_{2G}), L_G), \text{ where}$$

$$(i) G_1 = C_A P_1 = P_1^c \sqcup W, G=P=W$$

$$(ii) L_G = L_P = L_W$$

(iii) $\mu_{1G_1}: G_1 \rightarrow L_W$ is given by $\mu_{1G_1}x = M_A$

$\mu_{2G}: G \rightarrow L_W$ is given by $\mu_{2G}x = \bar{P}x$

$\bar{G}: G \rightarrow L_W$ is given by $\bar{G}x = \mu_{1G_1}x \wedge (\mu_{2G}x)^c$

$$= M_A \wedge (\bar{P}x)^c$$

$$=(\bar{P}x)^c$$

$(V \cap \mathcal{P}^{c,A}) = V \cap \mathcal{G} = \mathcal{H} = (H_1, H, \bar{H}(\mu_{1H_1}, \mu_{2H}), L_H)$, where

$$(1) \quad H_1 = V_1 \cap G_1 = (V_1 \cap P_1^c) \sqcup W, H = V \sqcup G = W$$

$$(2) \quad L_H = L_V \wedge L_G = L_W$$

(3) $\mu_{1H_1}: H_1 \rightarrow L_H$ is defined by $\mu_{1H_1}x = \mu_{1V_1}x \wedge \mu_{1G_1}x$

$$= \mu_{1V_1}x \wedge M_A$$

$$= \mu_{1V_1}x$$

$\mu_{2H}: H \rightarrow L_H$ is defined by $\mu_{2H}x = \mu_{2V}x \vee \mu_{2G}x$

$$= \mu_{2V}x \vee \bar{P}x$$

$\bar{H}: H \rightarrow L_H$ is defined by $\bar{H}x = \mu_{1H_1}x \wedge (\mu_{2H}x)^c$

$$= \mu_{1V_1}x \wedge ((\mu_{2V} \vee \mu_{2G})x)^c$$

$$= \mu_{1V_1}x \wedge (\mu_{2V}x)^c \wedge (\mu_{2G}x)^c$$

$$= (\bar{V}x) \wedge (\mu_{2G}x)^c$$

$$= \bar{V}x \wedge (\bar{P}x)^c$$

$V^{CA} \cap \mathcal{P} = \mathcal{F} \cap \mathcal{P} = \mathcal{J} = (J_1, J, \bar{J}(\mu_{1J_1}, \mu_{2J}), L_J)$, where

$$(4) J_1 = F_1 \cap P_1 = (V_1^C \cup W) \cap P_1$$

$$= (V_1^C \cap P_1) \cup (W \cap P_1)$$

$$= (V_1^C \cap P_1) \cup W, K = F \cup P = W \cup W = W$$

$$(5) L_J = L_F \wedge L_P = L_W$$

(6) $\mu_{1J_1}: J_1 \rightarrow L_J$ is defined by $\mu_{1J_1}x = \mu_{1F_1}x \wedge \mu_{1P_1}x$

$$= M_A \wedge \mu_{1P_1}x$$

$$= \mu_{1P_1}x$$

$\mu_{2J}: J \rightarrow L_J$ is defined by $\mu_{2J}x = (\mu_{2F} \vee \mu_{2P})x = \mu_{2F}x \vee \mu_{2P}x$

$$= \bar{V}x \vee \mu_{2P}x$$

$\bar{J}: J \rightarrow L_J$ is defined by $\bar{J}x = \mu_{1J_1}x \wedge (\mu_{2J}x)^c = \mu_{1P_1}x \wedge ((\mu_{2F} \vee \mu_{2P})x)^c$

$$= \mu_{1P_1}x \wedge [(\mu_{2F}x)^c \wedge (\mu_{2P}x)^c]$$

$$= [\mu_{1P_1}x \wedge (\mu_{2P}x)^c] \wedge (\mu_{2F}x)^c$$

$$= \bar{P}x \wedge (\bar{V}x)^c$$

$(V \cap \mathcal{P}^{CA}) \cup (V^{CA} \cap \mathcal{P}) = \mathcal{H} \cup \mathcal{J} = \mathcal{K} = (K_1, K, \bar{K}(\mu_{1K_1}, \mu_{2K}), L_K)$, Where

$$(7) \quad K_1 = H_1 \cup J_1 = [(V_1 \cap P_1^C) \cup W] \cup [(V_1^C \cap P_1) \cup W] = (V_1 \Delta P_1) \cup W,$$

$$K = H \cap J = W \cap W = W$$

$$(8) \quad L_K = L_H \vee L_J = L_W$$

$$(9) \mu_{1K_1}: K_1 \rightarrow L_W \text{ is defined by } \mu_{1K_1}x = (\mu_{1H_1} \vee \mu_{1J_1})x$$

$$\text{Case (i) } x \in W \Rightarrow \mu_{1K_1}x = (\mu_{1H_1}x \vee \mu_{1J_1}x) = \mu_{1V_1}x \vee \mu_{1P_1}x$$

$$\text{Case (ii) } x \notin W, x \in V \Rightarrow \mu_{1K_1}x = \mu_{1H_1}x = \mu_{1V_1}x$$

$$\text{Case (iii) } x \notin W, x \in P \Rightarrow \mu_{1K_1}x = (\mu_{1J_1}x) = \mu_{1P_1}x$$

$$\mu_{2K}: W \rightarrow L_W \text{ is defined by } \mu_{2K}x = (\mu_{2H}x \wedge \mu_{2J}x)$$

$$= (\mu_{2V}x \vee \bar{P}x) \wedge (\bar{V}x \vee \mu_{2P}x)$$

$$= (\bar{V}x \wedge \bar{P}x) \vee (\mu_{2V}x \wedge \mu_{2P}x)$$

$$\bar{K}: W \rightarrow L_W \text{ is defined by } \bar{K}x = \mu_{1K_1}x \wedge (\mu_{2K}x)^c$$

$$= (\mu_{1H_1} \vee \mu_{1J_1})x \wedge (\mu_{2H}x \wedge \mu_{2J}x)^c$$

$$= (\mu_{1V_1}x \vee \mu_{1P_1}x) \wedge [(\mu_{2V}x \vee \bar{P}x) \wedge$$

$$(\bar{V}x \vee \mu_{2P}x)^c]$$

$$= (\mu_{1V}x \vee \mu_{1P_1}x) \wedge [(\bar{V}x \wedge \bar{P}x)^c \vee (\mu_{2V}x \wedge$$

$$\mu_{2P}x)^c]$$

$$\mathcal{K}^{cA} = \mathcal{L} = (L_1, L, \bar{L}(\mu_{1L_1}, \mu_{2L}), L_L), \text{ where}$$

$$(a') \quad L_1 = C_A K_1 = K_1^c \sqcup W, \quad L = K = W$$

$$(b') \quad L_P = L_W$$

(c') $\mu_{1L_1}: L_1 \rightarrow L_W$ is defined by $\mu_{1L_1}x = M_A$

$\mu_{2L}: L \rightarrow L_W$ is defined by $\mu_{2L}x = \bar{K}x$

$\bar{L}: L \rightarrow L_W$, is defined by $\bar{L}x = \mu_{1L_1}x \wedge (\mu_{2L}x)^c = M_A \wedge (\bar{K}x)^c =$
 $(\bar{K}x)^c$

$$= \{(\mu_{1V_1}x \vee \mu_{1P_1}x) \wedge [(\bar{V}x \wedge \bar{P}x)^c \vee (\mu_{2V}x \wedge \mu_{2P}x)^c]\}^c$$

$$U \Delta K = (U \cap K^{c_A}) \cup (U^{c_A} \cap K) = (U \cap L) \cup (E \cap K)$$

$(U \cap K^{c_A}) = (U \cap L) = M = (M, M, \bar{M}(\mu_{1M_1}, \mu_{2M}), L_M)$, where

$$(10) M_1 = U_1 \cap K_1 = U_1 \cap [(V_1 \Delta P_1)^c \cup W] = [U_1 \cap (V_1 \Delta P_1)^c] \cup (U_1 \cap W)$$

$$= [U_1 \cap (V_1 \Delta P)^c] \cup W,$$

$$M = U \cup K = U \cup (H \cup J) = U \cup (W \cup W) = U \cup W = W$$

$$(11) L_M = L_U \wedge L_L = L_W$$

(12) $\mu_{1M_1}: M_1 \rightarrow L_W$ is defined by $\mu_{1M_1}x = \mu_{1U_1}x \wedge \mu_{1L_1}x$

$$= \mu_{1U_1}x \wedge M_A$$

$$= \mu_{1U_1}x$$

$\mu_{2M}: M \rightarrow L_W$ is defined by $\mu_{2M}x = (\mu_{2U} \vee \mu_{2L})x$

$$= (\mu_{2U}x \vee \mu_{2L}x)$$

$$= \mu_{2U}x \vee \bar{K}x$$

$$= \mu_{2U}x \vee [\mu_{1K_1}x \vee (\mu_{2K}x)^c]$$

$$= \mu_{2U}x \vee [(\mu_{1V_1}x \vee \mu_{1P_1}x) \wedge ((\mu_{2V}x \vee \bar{P}x) \wedge (\bar{V}x \vee \mu_{2P}x)^c)]$$

$\bar{M}: M \rightarrow L_W$ is defined by $\bar{M}x = \mu_{1M_1}x \wedge (\mu_{2M}x)^c$

$$= \mu_{1U_1}x \wedge [\mu_{2U}x \vee [(\mu_{1V_1}x \vee \mu_{1P_1}x) \wedge ((\mu_{2V}x \vee \bar{P}x) \wedge (\bar{V}x \vee \mu_{2P}x)^c)]]$$

$(U^c \cap \mathcal{K}) = (E \cap \mathcal{K}) = N = (N_1, N, \bar{N}(\mu_{1N_1}, \mu_{2N}), L_N)$, where

(1a) $N_1 = E_1 \cap K_1 = [(U_1)^c \cup W] \cap (K_1 \cup W) = [[U_1^c \cup W] \cap (V_1 \Delta P_1) \cup W]$

$$= [U_1^c \cap (V_1 \Delta P_1)] \cup W$$

(1b) $L_N = L_E \cap L_K = L_W$

(1c) $\mu_{1N_1}: L_N \rightarrow L_W$ is defined by $\mu_{1N_1}x = \mu_{1E_1}x \wedge \mu_{1K_1}x = M_A \cap (\mu_{1H_1} \vee \mu_{1J_1})x$

$$= (\mu_{1H_1} \vee \mu_{1J_1})x$$

$$= (\mu_{1V_1} \vee \mu_{1P_1})x$$

$\mu_{2N}: N \rightarrow L_W$ is defined by $\mu_{2N}x = (\mu_{2E} \vee \mu_{2K})x$

$$= (\bar{U}x \vee \mu_{2K}x)$$

$$= \bar{U}x \vee [(\mu_{2V}x \vee \bar{P}x) \wedge (\bar{V}x \vee \mu_{2P}x)^c]$$

$$\mu_{2P}x)]$$

$$= [(\mu_{2V}x \vee \bar{P}x \vee \bar{U}x) \wedge (\bar{V}x \vee$$

$$\mu_{2P}x \vee \bar{U}x)]$$

$$\bar{N}: N \rightarrow L_W \text{ is defined by } \bar{N}x = \mu_{1N_1}x \wedge (\mu_{2N}x)^c$$

$$= \mu_{1U_1}x \wedge [\mu_{2U}x \vee [(\mu_{1V_1}x \vee \mu_{1P_1}x) \wedge [(\mu_{2V}x \vee \bar{P}x) \wedge (\bar{V}x \vee$$

$$\mu_{2P}x)]^c]$$

$$U\Delta(V\Delta P) = U\Delta K = (U \cap K^{cA}) \cup (U^{cA} \cap K) = M \cup N$$

$$= Q = (Q_1, Q, \bar{Q}(\mu_{1Q_1}, \mu_{2Q}), L_Q), \text{ where}$$

$$(1) Q_1 = M_1 \cup N_1 = [(U_1 \cap (V_1 \Delta P_1)^c) \cup W] \cup [(U_1^c \cap (V_1 \Delta P_1)) \cup W]$$

$$= [U_1 \Delta (V_1 \Delta P_1)] \cup W, Q = M \cap N = W$$

$$(2) L_Q = L_M \cap L_N = L_W$$

$$(3) \quad (3) \mu_{1Q_1}: Q_1 \rightarrow L_W \text{ is defined by } \mu_{1Q_1}x = (\mu_{1M_1} \vee \mu_{1N_1})x$$

$$\text{Case (i) } x \in W \Rightarrow \mu_{1Q_1}x = (\mu_{1M_1}x \vee \mu_{1N_1}x) = \mu_{1U_1}x \vee \mu_{1V_1}x \vee$$

$$\mu_{1P_1}x$$

$$\text{Case (ii) } x \notin W, x \in U \Rightarrow \mu_{1Q_1}x = \mu_{1M_1}x = \mu_{1U_1}x$$

$$\text{Case (iii) } x \notin W, x \in V \Rightarrow \mu_{1Q_1}x = (\mu_{1N_1}x) = \mu_{1V_1}x$$

$$\text{Case (iii) } x \notin W, x \in P \Rightarrow \mu_{1Q_1}x = (\mu_{1N_1}x) = \mu_{1P_1}x$$

$$\mu_{2Q}: Q \rightarrow L_W \text{ is defined by } \mu_{2Q}x = (\mu_{2M}x \wedge \mu_{2N}x)$$

$$\begin{aligned}
 &= [\mu_{2U}x \vee ((\mu_{1V_1}x \vee \mu_{1P_1}x) \wedge ((\bar{V}x)^c \vee (\bar{P}x)^c))] \wedge ((\mu_{2V}x)^c \vee (\mu_{2P}x)^c)] \wedge [(\mu_{2V}x \vee \bar{P}x \vee \bar{U}x) \wedge (\bar{V}x \vee \mu_{2P}x \vee \bar{U}x)] \\
 &= (\mu_{1V_1}x \vee \mu_{1P_1}x \vee \mu_{2U}x) \wedge \{(\bar{V}x)^c \vee (\bar{P}x)^c \vee \mu_{2U}x\} \wedge (\mu_{2V}x \vee \bar{P}x \vee \bar{U}x) \\
 &\wedge (\bar{V}x \vee \mu_{2P}x \vee \bar{U}x) \{(\mu_{2V}x)^c \vee (\mu_{2P}x)^c \vee \mu_{2U}x\}
 \end{aligned}$$

$$\mathcal{U} \cap \mathcal{F} = \mathcal{R} = (R_1, R, \bar{R}(\mu_{1R_1}, \mu_{2R}), L_R), \text{ where}$$

$$(4) \quad R_1 = U_1 \cap F_1 = U_1 \cap [V_1^c \cup W] = [U_1 \cap V_1^c] \cup W$$

$$R = U \cup F = W \cup W = W$$

$$(5) \quad L_R = L_U \wedge L_F = L_W$$

$$(6) \quad \mu_{1R_1}: R_1 \rightarrow L_W \text{ is defined by } \mu_{1R_1}x = \mu_{1U_1}x \wedge \mu_{1F_1}x$$

$$= \mu_{1U_1}x \wedge M_A$$

$$= \mu_{1U_1}x$$

$$\mu_{2R}: R \rightarrow L_W \text{ is defined by } \mu_{2R}x = (\mu_{2U} \vee \mu_{2F})x$$

$$= (\mu_{2U}x \vee \mu_{2F}x)$$

$$= \mu_{2U}x \vee \bar{V}x$$

$$\bar{R}: R \rightarrow L_W \text{ is defined by } \bar{R}x = \mu_{1R_1}x \wedge (\mu_{2R}x)^c = \mu_{1U_1}x \wedge [(\mu_{2U}x) \vee \bar{V}x]^c$$

$$= \bar{U}x \wedge (\bar{V}x)^c$$

$(U^c \cap V) = E \cap V = S = (S_1, S, \bar{S}(\mu_{1S_1}, \mu_{2S}), L_S)$, where

$$(7) S_1 = E_1 \cap V_1 = [U_1^c \cup W] \cap V_1 = [U_1^c \cup V_1] \cup W, \quad S = E \cup V = W$$

$$(8) L_S = L_E \wedge L_V = W$$

(9) $\mu_{1S_1}: S_1 \rightarrow L_W$ is defined by $\mu_{1S_1}x = \mu_{1E_1}x \wedge \mu_{1V_1}x$

$$= \mu_{1V_1}x \wedge M_A$$

$$= \mu_{1V_1}x$$

$\mu_{2S}: S \rightarrow L_W$ is defined by $\mu_{2S}x = (\mu_{2E} \vee \mu_{2V})x$

$$= (\mu_{2E}x \vee \mu_{2V}x)$$

$$= \mu_{2V}x \vee \bar{U}x$$

$\bar{S}: S \rightarrow L_W$ is defined by $\bar{S}x = \mu_{1S_1}x \wedge (\mu_{2S}x)^c$

$$= \mu_{1V_1}x \wedge [(\mu_{2V}x) \vee \bar{U}x]^c$$

$$= \mu_{1V_1}x \wedge (\bar{U}x)^c \wedge (\mu_{2V}x)^c$$

$$= \bar{V}x \wedge (\bar{U}x)^c$$

$R \cup S = T = (T_1, T, \bar{T}(\mu_{1T_1}, \mu_{2T}), L_T)$, where

$$(10) T_1 = R_1 \cup S_1 = [[U_1 \cap V_1^c] \cup W] \cup [[(U_1^c \cap V_1)] \cup W]$$

$$= (U_1 \Delta V_1) \cup W, \quad T = R \cap S = W$$

$$(11) L_T = L_R \wedge L_S = L_W$$

$$(12) \mu_{1T_1}: T_1 \rightarrow L_W \text{ is defined by } \mu_{1T_1}x = (\mu_{1R_1} \vee \mu_{1S_1})x \\ = (\mu_{1U_1} \vee \mu_{1V_1})x$$

$$\text{Case (i) } x \in W \quad \mu_{1T_1}x = (\mu_{1U_1}x \vee \mu_{1V_1}x) \\ = (\mu_{1U_1}x \vee \mu_{1V_1}x)$$

$$\text{Case (ii) } x \in W, x \in U \quad \mu_{1T_1}x = (\mu_{1U_1}x)$$

$$\text{Case (iii) } x \in W, x \in U \quad \mu_{1T_1}x = \mu_{1C_1}x$$

$$\mu_{2T}: T \rightarrow L_W \text{ is defined by } \mu_{2T}x = (\mu_{2R} \vee \mu_{2S})x \\ = (\mu_{2U}x \vee \bar{V}x) \wedge (\bar{U}x \vee \mu_{2V}x) \\ = (\bar{V}x \wedge \bar{U}x) \vee (\mu_{2U} \wedge \mu_{2V}x)$$

$$\bar{T}: T \rightarrow L_W \text{ is defined by } \bar{T}x = \mu_{1T_1}x \wedge (\mu_{2T}x)^c \\ = \mu_{1T_1}x \wedge [(\bar{V}x \wedge \bar{U}x) \vee (\mu_{2U} \wedge \mu_{2V}x)]^c \\ = (\mu_{1R_1}x \vee \mu_{1S_1}x) \wedge ((\bar{V}x \wedge \bar{U}x)^c) \vee \\ (\mu_{2U} \wedge \mu_{2V}x)^c \\ = (\mu_{1U_1}x \vee \mu_{1V_1}x) \wedge (\bar{V}x \wedge \bar{U}x)^c \wedge (\mu_{2U}x \wedge \mu_{2V}x)^c$$

$$\mathcal{T}^{C,A} = \mathcal{X} = (X_1, X, \bar{X}(\mu_{1X_1}, \mu_{2X}), L_X), \text{ where}$$

$$(a') \quad X_1 = C_A T_1 = T_1^c \sqcup W = [(U_1 \Delta V_1)^c \sqcup W], \quad X = T = W$$

$$(b') \quad L_X = L_T = L_W$$

$$(c') \quad \mu_{1X_1}: T_1 \rightarrow L_W \text{ is defined by } \mu_{1X_1}x = M_A$$

$\mu_{2X}: X \rightarrow L_W$ is defined by $\mu_{2X}x = \bar{T}x = \mu_{1T_1}x \wedge (\mu_{2T}x)^c$

$\bar{X}: X \rightarrow L_W$ is defined by $\bar{X}x = \mu_{1X_1}x \wedge (\mu_{2X}x)^c$

$$= M_A \wedge (\bar{T}x)^c = (\bar{T}x)^c$$

$$(\mu_{1U_1}x \vee \mu_{1V_1}x) \wedge [(\bar{V}x \wedge \bar{U}x)^c \vee (\mu_{2U} \wedge \mu_{2V}x)^c]^c$$

$(\mathcal{T} \cap \mathcal{P}^{c_A}) = (\mathcal{T} \cap \mathcal{G}) = \mathcal{A} = (A_1, A, \bar{A}(\mu_{1A_1}, \mu_{2A}), L_A)$, where

$$(13) \quad A_1 = T_1 \cap G_1 = [(V_1 \Delta U_1) \cap P_1^c \sqcup W], \quad V = T \sqcup G = W$$

$$(14) \quad L_A = L_T \vee L_G = L_W$$

(15) $\mu_{1A_1}: A_1 \rightarrow L_W$ is defined by $\mu_{1A_1}x = \mu_{1T_1}x \wedge \mu_{1G_1}x$

$$= (\mu_{1U_1} \vee \mu_{1V_1})x \wedge M_A$$

$$= (\mu_{1U_1} \vee \mu_{1V_1})x$$

$\mu_{2A}: A \rightarrow L_W$ is defined by $\mu_{2A}x = (\mu_{2T} \vee \mu_{2G})x$

$$= (\mu_{2T}x \vee \mu_{2G}x)$$

$$= \mu_{2T}x \vee \bar{P}x$$

$$= [(\mu_{2V}x \vee \bar{P} \vee \bar{U}x) \wedge (\bar{V}x \vee \mu_{2U}x \vee \bar{P})] \vee \bar{P}x$$

$$= [(\mu_{2V}x \vee \bar{U}x \vee \bar{P}x) \wedge (\bar{V}x \vee \mu_{2U}x \vee \bar{P}x)]$$

$\bar{A}: A \rightarrow L_W$ is defined by $\bar{A}x = \mu_{1A_1}x \wedge (\mu_{2A}x)^c$

$$= (\mu_{1U_1} \vee \mu_{1V_1})x \wedge [(\mu_{2V}x \vee \bar{U}x \vee \bar{P}x) \wedge (\bar{V}x \vee \mu_{2U}x \vee \bar{P}x)]^c$$

$(\mathcal{T}^{c_A} \cap \mathcal{P}) = \mathcal{X} \cap \mathcal{P} = \mathcal{Y} = (Y_1, Y, \bar{Y}(\mu_{1Y_1}, \mu_{2Y}), L_Y)$, where

$$(16) Y_1 = X_1 \cap P_1 = [X_1^c \cap P_1] = [(U_1 \Delta V_1)^c \cap P_1] \cup W, \quad Y = U \cup P = W$$

$$(17) \quad L_Y = L_X \wedge L_P = L_W$$

$$(18) \quad \mu_{1Y_1}: Y_1 \rightarrow L_W \text{ is defined by } \mu_{1Y_1}x = \mu_{1X_1}x \wedge \mu_{1P_1}x$$

$$= \mu_{1P_1}x \wedge M_A$$

$$= \mu_{1P_1}x \wedge M_A$$

$$= \mu_{1P_1}x$$

$$\mu_{2Y}: Y \rightarrow L_W \text{ is defined by } \mu_{2Y}x = (\mu_{2X} \vee \mu_{2P})x$$

$$= (\mu_{2X}x \vee \mu_{2P}x)$$

$$= [(\mu_{1U_1}x \wedge \mu_{1V_1}x) \wedge (\bar{V}x \wedge \bar{U}x)^c \wedge (\mu_{2U}x \wedge$$

$$\mu_{2V}x)^c] \vee \mu_{2P}x$$

$$\bar{Y}: Y \rightarrow L_W \text{ is defined by } \bar{Y}x = \mu_{1Y_1}x \wedge (\mu_{2Y}x)^c$$

$$= \mu_{1P_1}x \wedge [(\mu_{1U_1}x \wedge \mu_{1V_1}x) \wedge (\bar{V}x \wedge \bar{U}x)^c \wedge (\mu_{2U}x \wedge \mu_{2V}x)^c]^c$$

$$= \mu_{1P_1}x \wedge [(\mu_{1U_1}x)^c \vee (\mu_{1V_1}x)^c] \vee (\bar{V}x \wedge \bar{U}x) \vee$$

$$(\mu_{2U}x \wedge \mu_{2V}x)$$

$$(U \Delta V) \Delta P = R \Delta P = (R \cap P^{c_A}) \cup (R^{c_A} \cap P) =$$

$$A \cup Y = Z =$$

$$(Z_1, Z, \bar{Z}(\mu_{1Z_1}, \mu_{2Z}), L_Z) \text{ where}$$

$$(2a) \quad Z_1 = A_1 \cup Y_1 = [(U_1 \Delta V_1) \cap P_1^c] \cup W \cup [(U_1 \Delta V_1)^c \cap P_1] \cup W$$

$$= [U_1 \Delta (V_1 \Delta P_1)] \cup W, \quad Z = A \cap Y = W$$

$$(2b) L_Z = L_A \cap L_Y = L_W$$

$$(2c) \mu_{1Z_1}: Z_1 \rightarrow L_W \text{ is defined by } \mu_{1Z_1}x = (\mu_{1A_1} \vee \mu_{1Y_1})x$$

$$\text{Case (i) } x \in A \Rightarrow \mu_{1Z_1}x = (\mu_{1A_1}x \vee \mu_{1Y_1}x)$$

$$= \mu_{1U_1}x \vee \mu_{1V_1}x \vee \mu_{1W_1}x$$

$$\text{Case (ii) } x \notin W, x \in U \Rightarrow \mu_{1Z_1}x = (\mu_{1A_1}x) = \mu_{1U_1}x$$

$$\text{Case (iii) } x \notin W, x \in V \Rightarrow \mu_{1Z_1}x = (\mu_{1A_1}x) = \mu_{1V_1}x$$

$$\text{Case (iii) } x \notin W, x \in P \Rightarrow \mu_{1Z_1}x = (\mu_{1Y_1}x) = \mu_{1P_1}x$$

$$\mu_{2Z}: W \rightarrow L_W \text{ is defined by } \mu_{2Z}x = \mu_{2A}x \wedge \mu_{2Y}x$$

$$= [(\mu_{2U}x \vee \bar{P}x \vee \bar{V}x) \wedge$$

$$(\mu_{2V}x \vee \bar{P}x \vee \bar{U}x)] \wedge [(\mu_{1V_1}x \vee \mu_{1U_1}x \vee \mu_{2P}x) \wedge \{(\bar{V}x)^c \vee (\bar{U}x)^c\} \vee$$

$$\mu_{2P}x] \wedge \{(\mu_{2V}x)^c \vee (\mu_{2U}x)^c \vee \mu_{2P}x\}$$

$$= (\mu_{2U}x \vee \bar{P}x \vee \bar{V}x) \wedge (\mu_{2V}x \vee \bar{P}x \vee \bar{U}x) \wedge (\mu_{1V_1}x \vee \mu_{1U_1}x \vee \mu_{2P}x) \wedge$$

$$\{(\bar{V}x)^c \vee (\bar{U}x)^c\} \vee \mu_{2P}x \wedge \{(\mu_{2V}x)^c \vee (\mu_{2U}x)^c \vee \mu_{2P}x\}$$

$$\bar{Z}: Z \rightarrow L_W \text{ is defined by } \bar{Z}x = \mu_{1Z_1}x \wedge (\mu_{2Z}x)^c$$

$$= (\mu_{1A_1} \vee \mu_{1Y_1})x \wedge (\mu_{2A}x \wedge \mu_{2Y}x)^c$$

$$= (\mu_{1U_1}x \vee \mu_{1V_1}x \vee \mu_{1P_1}x) \wedge [(\mu_{2U}x \vee \bar{P}x \vee \bar{V}x) \wedge (\mu_{2V}x \vee \bar{P}x \vee$$

$$\bar{U}x) \wedge (\mu_{1V_1}x \vee \mu_{1U_1}x \vee \mu_{2P}x) \wedge \{(\bar{V}x)^c \vee (\bar{U}x)^c\} \vee \mu_{2P}x] \wedge \{(\mu_{2V}x)^c \vee$$

$$(\mu_{2U}x)^c \vee \mu_{2P}x\}^c$$

Need to show Q and Z are full equal i.e. sufficient to show

(I) $Q_1 = Z_1$,

(II) $L_Q = L_Z$

(III) $\mu_{1Q_1}^x = \mu_{1Z_1}^x$ and

The minimum of 1,2,3,4 and 5 and the minimum of 1',2',3',4' and 5' are same using the given conditions ,So that $\mu_{2Q}^x = \mu_{2Z}^x$ are equal

(I) follows from a (1a)and(2a)

(II) follows from a(1b)and(2b)

(III) follows from a(1c)and(2c)

References

- [1] J.A.Goguen ,L-Fuzzy Sets, JMAA,Vol.18, P145-174,1967
- [2] Steven Givant• Paul Halmos, Introduction to Boolean algebras, Springer
- [3] Szasz, G., An Introduction to Lattice Theory, Academic Press, New York.
- [4] Garret Birkhoff, Lattice Theory, American Mathematical Society Colloquium publications Volume-xxv
- [5] Thomas Jech ,Set Theory, The Third Millennium Edition revised and expanded, Springer
- [6] George J. Klir and Bo Yuan ,Fuzzy Sets, Fuzzy Logic, and Fuzzy Systems: Selected Papers by Lotfi A. Zadeh ,Advances in Fuzzy Systems-Applications and Theory Vol-6,World Scientific
- [7] James Dugundji, Topology, Universal Book Stall, Delhi.
- [8] L.Zadeh, Fuzzy Sets, Information and Control,Vol.8,P338-353,1965
- [9] U.Höhle,S.E.Rodabaugh, Mathematics of fuzzy Sets Logic, Topology, and Measure Theory, Kluwer Academic Publishers, Boston
- [10] G.F.Simmons, Introduction to topology and Modern Analysis, McGraw-Hill international Book Company International Journal of Pure and Applied Mathematics Special Issue 4689